Solutions to smp-8107-2/JQYX

Worksheet

07/23/2020
Free on dw-math.com

Problem quickname: 8107

L) Quick:

8107
Order the numbers according to size. Start with the smallest number.

b) 40.9 < 46.9 < 406.9 < 496.8 < 694.8
c) 404 <474 <4074 <4714 <7414
d) 7.6 < 470.6 < 478.6 < 487.6 < 740.6

a) 65 < 359.6 < 905.6 < 950.6 < 953.6
)

27) Quick:

Order the numbers according to size. Start with the smallest number. o
a) 8.54 < 58.04 < 58.46 < 58.64 b) 6.72 < 7.62 < 26.72 < 27.62

c) 3.59 < 33.59 < 33.95 < 53.09 d) 11.03 < 11.43 < 31.01 < 41.13

e) 20.56 < 26.5 < 26.57 < 27.56

37) Quick:
8107

Order the numbers according to size. Start with the smallest number.

a) 0.077 < 0.703 < 0.707 < 0.727 < 0.77 < 0.772
b) 0.03 < 0.083 < 0.283 < 0.3 < 0.38 < 0.823
c) 0.024 < 0.042 < 0.204 < 0.254 < 0.42 < 0.524
d) 0.035 < 0.305 < 0.35 < 0.503 < 0.535 < 0.553
e) 0.004 < 0.014 < 04 < 0.41 < 0.514 < 0.541
f) 0.036 < 0.063 < 0.306 < 0.36 < 0.366 < 0.666

4
7) Quick:
8107

Order the numbers according to size. Start with the smallest number.

a) =84 < —48 < -40< -4 < =0 b) 22 < -20< -2 <2< 22
c) 13 < -3<-0<30<31 d) —63 < —60 < —6 < 36 < 60
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Solutions to smp-8107-2/JQYX

e) =32 < -20< -0<2<23

Good Luck!
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